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General Instructions :

10.

The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Name the quantity measured by the area occupied below the velocity - time graph.

An object of mass 2kg falls with an acceleration of 9.8 m/s? towards the ground. With
what acceleration will an object of mass 4 kg fall ?

On which factor does a solution said to be diluted, concentrated or saturated ?
Which component of food is present in pulses ? Also mention its function in the body.
What happens when you pour some acetone on your palm ?

A body is moving along a circular path of radius R. What will be the distance and
displacement of the body when it completes half a revolution ?

When a carpet is beaten with a stick, dust comes out. Explain.
Water is a compound and not a mixture give any two points to justify your answer.
Distinguish between uniform and non-uniform motion.

The earth attracts an apple. Does the apple also attract the earth ? If it does, why does
the earth not move towards the apple ?

What are weeds ? Why is it necessary to remove them ?

Mention two functions of stomata.

What are endocytosis ? Give one example.

Evaporation is a surface phenomenon. Explain this by giving an example.
Why gases are compressible but not liquids.

When are the forces acting on a body said to be balanced ? Give an example. What type
of change can the balanced forces bring about in an object ?

Derive an expression for acceleration due to gravity on a planet of mass M and radius R.
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A ball is gently dropped from a height of 20 m. If its velocity increases uniformly at the
rate of 10 m/s?, with what velocity will it strike the ground ? After what time will it
strike the ground ?

A ball thrown up vertically returns to the thrower after 65. Find :
(@)  The velocity with which it was thrown up.

(b) The maximum height it reaches.
(c) Its position after 4s. (Take g =10 m/s?)

What factors may be responsible for losses of grains during storage ? Also mention any
two preventive measure to control loss of grains during storage.

Explain that livestock production needs to be improved. Why there is necessity of Animal
Husbandry ?

Draw a well labelled diagram of phloem tissue.

State and verify law of conservation of momentum.

OR
(a) State second law of motion. Give its mathematical expression.
(b) How will you define unit of force using this law ?

(c) Calculate the mass of a body. When a force of 525 N produce an acceleration of
3.5 m/s2.

(@) A solution is prepared by dissolving 15g of sodium chloride in 200g of H,O. What
is the mass by mass percent of NaCl in this solution ?

(b) What is solute and solvent in aerated drinks ?

(c) Given a solution of substance “A” how will you test whether it is saturated or
unsaturated with respect to “A” at the given temperature.

OR

How much water should be mixed with 12ml of alcohol so as to obtain 12%
alcohol solution ?

How does the particle size vary in a true solution and a suspension ?
What is a dispersed phase and a dispersed medium in a colloid ?

Why mitochondria are known as the powerhouses of the cell. Explain ?

What are chromoplasts and leucoplasts ? Give an example of chromoplasts which
has green pigment

OR
Give any three point of difference between animal cell and plant cell.
Why is the cells called the structural and functional unit of life ?
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SECTION - B 16x1=16

26. On the laboratory table were placed four watch glasses with labels A, B, C and D. 1
Watch glass “A” had chalk powder ‘B’ had sago powder, ‘C’ had common salt and D
had powdered sugar. On adding two drops of iodine to the content of each watch

glass the one turning blue black will be :
(@ A
(b) B
(¢ C
(d D

Four samples of arhar dal were taken in four test tubes with some water in each and
labelled P,Q, R and S. A few drops of the following were added to these test tubes,
water to test tube PP, HCI to test tube Q, NaOH to test tube R and alcohol to test tube S.
We would be able to confirm adulteration of the dal with metanil yellow in test tubes :

(a) Pand Q
(b) QandR
(¢ RandS
(d SandP

Given below are four operations for preparing a temporary mount of human cheek
cells :

(a) taking scraping from inner side of the cheek and spreading it on a clean side.
(b)  putting a drop of glycerine on the material

(c) adding two or three drops of methylene blue.

(d) rinsing the mouth with fresh water and disinfectant solution

The correct sequence of three operations is :

(@) a-b-c-d

(b) d-a-c-b

(c) d-a-b-c

(d a-c-b-d

Human cheek cells stained in methylene blue and mounted in glycerine were observed
with the help of a compound microscope. The components of the cell which would be
seen are :

(a) cell wall, cytoplasm, nucleus

b) plasma membrane, cytoplasm, nucleus

(
(c) plasma membrane, cytoplasm, nucleus, mitochondria
(

d) plasma membrane, cytoplasm, nucleus, mitochondria, golgi bodies, lysosomes

980625 - B1




You are shown two slides of plant tissues parenchyma and sclerenchyma you can
identify the sclerenchyma by the :

(a) location of nucleus

(b) thickness of cell wall
(c) size of cells
(

d) position of vacuoles

Gurjot observed nerve cells under the microscope, and made a sketch. The mistake in
his drawing is the cyton with

(@) cilia

(b) dendrites
() nucleus
(

d) cytoplasm

The colour of true solution of alum in water is :
(a) Colourless

(b) Blue

() Yellow

(d) Green

The substance which do not form suspension in water is :
(a) Common salt

(b) Sand

(c) Soil

(d) Chalk powder

Which of the following is most stable ?
True solution
Colloid
Suspension

None of these

The smell of H,S is :
Pleasant
Of rotten eggs
Of burning sulphur

None of these
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In laboratory, what precautions has to be taken with carbon disulphide ?
(a) Kept away from flame

(b) Kept away from carbon

(c) Kept away from distilled water
(d) Kept away from iron sulphide

While heating iron filings and sulphur, keep your eyes away from vapours because :
(a) Sulphur vapours may cause irritation in eyes

(b)  Sulphur vapours are harmless

(c) Iron vapours may cause irritation in eyes

(d) H,S gas will cause irritation in eyes

We want to carry out a reaction of zinc granules with sulphuric acid one bottle contains
concentrated sulphuric acid and another bottle contains dilute sulphuric acid. The
correct way of carrying out the reaction is to :

(a) Use concentrated sulphuric acid
(b)
(©)
(

d) Mix concentrated and dilute sulphuric acid and add water to it

Add water to concentrated sulphuric acid before using it
Use dilute sulphuric acid

An iron nail was immersed in a salt solution. After some time a reddish brown deposition
on the nail was seen. The salt could be :

(a) Silver nitrate
b) Sodium sulphate

(
(¢)  Aluminium chloride
(d) Copper sulphate

Common salt and sand can be separated by :
(a) Filtration

(b)  Crystallisation

(c)

(d) First dissolving in water, then by filtration and followed by crystallisation.

Sedimentation and Decantation

What happens to copper sulphate crystals when they are heated in a china dish ?
(a) Turns white

(b) Turns yellow

() Turns green

(d) Remains same.

980625 - B1




Qug ‘3’

A-FHI U6 & 1= o & § "Il TS TR A B Q2

3R 2 foh. 7. oMM ot g 1 gt W A &1 @01 9.8 m/s2 ®, 1 4 foh. . g=amm &t a%g
T IO T BT 2

T8 HH W FNF § % MR W Rt foeram i1 79, 9 o1 W el ST Tkl § 2
T H i T TYF T U A S 2 7 Uk el 1 IR H 9 g 1 § 2
THREH gdell W T T FT T ¢ ?

T U R 9 T (A X @&, ST Faeh T § g8 3 fowemds &8 g 51a g Y
HI ST RA?

T T TS W SHH § ¢ o HUT SRR T T S E 2

ST Ueh iR § fagor 71 o SR Wt gfe # faw @ ad dfsm
THHHM T o STHAM TG H S T IS |

oAt Tl 1 SR FIdT § | 7 Tl off goolt 1 STU TR SATR{HT FRATR 2 SR T <l gooit T
1 SR A & feeia e ?

TLOqER 1 § ? EOqaR ] Gdl 9 gH1 | a9 © ?
Wi & < % fafan |
TSIHEI T 941 € 2 Ueh SeTedu iy |

FTOAHI0T Teh Fag! Tishal &1 SeTelul Tfed THeist |

gl =1 gdifed foan <1 g1 €@ Wed &1 T8l 1 =l ?

fordt o T FT HTA T T Fel Fford eIl § 2 Teh ISR ST | ot gy o%g |
IR & Hehd © 7

980625 - B1




e T T A A1 SIS 576 T8 1 5591 R IR g9 M g1

Teh 7 1 20 m 1 S8 ¥ FRE S 81 98 10 m/s2 % T FUH sed g o7 ¥ geait shi 3
fRaT €1 geat | Tohtm TR IHeRT 97T 1 B qe geut W ugen | oy fohde e @ 2

JeafeR foun # S TP AR Gl TS T 1S 65 TLA Tk aTet o U6 @le T & | 1 Hhifere |
(a) % fohd o 9 FI ekl T3 ?

(b) T gRT UgH TE SAferchan ST |

(c) 4suvan e &l feafd (g=10m/s?)

WSRO &1 Gishan § i Q ek SIS i B o felu STRerE € 2 YR &t ufshan § o &
B 1 T & <1 U ferat |

IYEE W TS YT FH U GUR 6} ATGvaehal €1 TUSST | IYUTeE Fi STEvas § ?
AR |

TAITH Sdeh 1 o9 Hifehd 97 sF1ET |

Horm Heur &1 fom F1 €2 39 W o1 g Sife
3AUqAT
T o1 GO T =0 T 7 sHeR MR fewer s |
39 T7o™ &1 37T 3 39 o I ford JahR aRnfya &80 ?

et og R 525 N 1 971 &H W g ST 3.5 m/s2 T =0T ScaeT 2l § 39 9% &
SSHM i TUAT RIS |

15gm HIfea™ FARES ! 200gm A H Hiereh? foread s S €1 §e9m™ Jfawd &
YR T NaCl &1 39 faeraa & a1 gea9q™ 2 ?

viiaa g geredf § Sufted faeia iR faamaes &t 9g=m Sifau |

T o faerm ‘A7 T fou T aTTEE W W © A1 STHTE, SHRT 3T Y Ted il ?
3AUqAT

12ml Teshigiad B, 12% Tehierd faer@m sam & foe fhat amn 8 siat faermn g2 2

T Tiefer 3iR aredfass foera § 0l o AR # fhd Yo S Bia1 €2

ot fciem & ufifere grareen SR gftdemr areem 5 wed § 2

980625 - B1




AT o ATRSIHISAT i HIfVTHT fose=R T4 Fed § ?

IR & THICTRE F1 § 2 HhIHere sl 2R Juies giaT © 1 Tah IS0l St |
AAqAT
TIRY QT ST, HITTeRT H g a9 3T faray |

SHITYTRT h1 e i A 3T HIcHS She il had o 7

EC LG N

YA S T =R 979 T8 A, B, C 3R D W MU & | 99 79 ‘A’ | =ik Tsel ‘B’ #
FEEH (sago) TS ‘C’ H HERY 70 o D H vaht (1) &7 TR 1 I | < 95
AEfed ® Sem WA= § 9 1 W1 eAT-hTell 81 STl & |

@ A (b) B (© ¢C (d D

SRR T & IR A =9 @Al P,Q, R RS H foran M| waeft PH 5t Q # HCI, R¥
NaOH, 7911 S H Teh el i F8 < STell T | 1 HeIa il i foamee %t Tea
R Tl H T Hehd B

(@) P3RQ (b) Q3RR () R3RS d) S3RP

MG HUTA HIVHT HT ST TAEE 91 H1 Ulshan H 11 ==o1 29 & -

(a) T@ % i 9 I GLEA Hl TEE W B

(b) 8 R A= #1 T 95 S|

() - dg fHemEel s *T S|

(d) TE HI A STA F FHAU Tk a1t gered F & |

SR s o1 T A T -

(@) a-b-c-d (b) d-a-c-b () d-a-b-c (d a-c-b-d

Taeseli s 9§ Wa FHaTel HIfeRT H1 SAESH (stain) e Taada St wax iy W@t
(A1Se) gaAsEl 95 g 9@ W hifvh # {7 fo@ms <

(a) IR fufa, wifer o=, F=®
(b)

T T3, IR 58, hgeh

(c) ARH Toeedl, SR 53, heseh, AISeIhiGHl

(d) I T, SR 554, Fseh, AESRITgA, e H, AEHEM

980625 - B1




3TTqehR] TL=RTZAT AT THAILhIZH] Sdehl &1 o TR fe@TE STl €, ST Thol{-<hIgHl i T8dH

U
(a) =k wi feafa (b)  =nifvreR fufe =t e
(c)  hITITERT T JTHR (d) TEuE T feafa

TESId - GEHSH §RI STEciieh Y dfehl hif¥reh] o1 forst o, fre Terdt § 397 ifdren
& o |1 e Rl o T

(a) Tafemn (b) TR () H=H EAINER-C

Ttheehtl o aEdfereh STeild faeras 1 T a1 ¥ ¢
(a) TR (b) e

98 Teret S ST & 91 fAered Tl o
(a) HERI THR (b) X

e o 9 Tomdt faeras e W e ?
(a) Al foer EINIESEGRE
(c) fretem g T |

H,S 4 &t g 3t © -
(a) oT=BI TS gU 1S St
(c)  Terd T Hew S T G i T

TN § 1Y Fid 9T Ha-SE-TehEs & 91Y F1 Eet W@l A1fey ?
(a) S | @A =AMfEC | (b)  HTe § TG AMMBC
(c) oTYd Sd | Q@ A8 (d) ST HohiEe ¥ X @A =1

e 90f o TewR * fagor 1 7 F gHF et 9 ¥ QW @ TR ?
(a) TTH I AT TG H ST Seqel Hl S

(b) T I AT BIRiEd Bt ¥

(c) die T i@l H Ser 3eael i 7 |

(d) H,S g sifel # STer 3o Lt |

980625 - B1




7 5 & Thel R FerIfih o7 &l TERTh AR w1 =med €1 T &= &t wien §
ig, Hoewfieh ST o gER shid & Y9 | q TerIfer o § 1wt wamafTe stfufsman % forg
TH YA A

(a) Wig TR 17 A1

(b) U FH § YT Hig YRk 7 | Sel fHerret

(c) T HTHRF T

(d) T 9 GeHRRE T o g § S faerRt

TR 1 idt TRt a0 & foaery # ot g8 § 39 999 915 Sial T ATy T 61 SH4 foam
SR TR AANR

(a) ToeeR MEee (b) Hifeaw Hethe
(c) T FIREe (d) R Fohe

TIEROT A F Xd ok A0 Y ST o <1 Heha ©
(a) BRI

OBREISIESH Y

(c) qaASAH R R

(d) TEd S H =y, BMHY, TR fheediaio &tk

I BT § T HIEHe bl =re feur & | & § ?
(a) 9% THS B @ T (b) = e B a2 |
(c) TTIMIAIMMEI (d) %S| A R

-00o0-

980625 - B1




